
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplicare per potenze di dieci ( numero mancante
)

2, 811 × ________ = 2811 9, 199 × ________ = 9199

1, 702 × ________ = 17.02 9, 734 × ________ = 9734

4, 518 × ________ = 4518 10, 508 × ________ = 1050.8

7, 082 × ________ = 708.2 5, 583 × ________ = 55.83

9, 104 × ________ = 91.04 4, 154 × ________ = 4154

4, 082 × ________ = 40.82 10, 392 × ________ = 1039.2

4, 457 × ________ = 445.7 1, 206 × ________ = 12.06

2, 946 × ________ = 29.46 3, 661 × ________ = 36.61

4, 153 × ________ = 415.3 5, 349 × ________ = 534.9

3, 666 × ________ = 36.66 9, 387 × ________ = 93.87
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